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Sample Paper – 2009
Class – X

Subject – Mathematics
TIME – 3 Hrs

           


        


M.M: 80

__________________________________________________________________

General Instructions:

(i) All questions are compulsory.
(ii) Write the question’s number before attempting it.
(iii) This question paper contain four sections A, B, C and D. Section A consist of 10 questions of 1 mark each, Section B consist of 5 questions of 2 marks each, Section C consist of 10 questions of 4 marks each, Section D consist of 5 questions of 6 marks each. 

(iv) Draw the figures wherever require.
(v) Use of the calculator is not permitted. 
Section – A

1. Explain why 7 x 11 x 13 + 13 and 7 x 6 x 5 x 4 x 3 x 2 x 1 + 5 are composite numbers.

2. Can two numbers have 16 as their HCF and 380 as their LCM?

3. If the product of two numbers is 1080 and their HCF is 30, find their LCM.

4. Given the linear equation 
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,write another linear equation in two variables such that the geometrical representation of the pair so formed is intersecting lines.

5. Evaluate: 
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6. 
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a) secA
b) sinA

c) cosecA

d) cosA

7. What is the angle of elevation of the sun when the length of the shadow of a vertical pole is equal to its height?

8. If -4 is a root of the quadratic equation
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9. Two isosceles triangles have equal vertical angles and their areas are in the ratio 9:16. Write the ratio of their corresponding heights.

10. Find the distance between the points (4,5) and (-3,2).

Section – B

11. Find the smallest number which leaves remainder 8 and 12 when divided by 28 and 32 respectively.

12. For what value of 
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, the system of equations
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will have no solution?

13. If
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14. Show that the points (1,-1), (5, 2), and (9, 5) are collinear.

15. The perimeters of two similar triangles are 25 cm and 15 cm respectively. If one side of 1st triangle is 9 cm, find the corresponding side of the other triangle.
Section – C

16. Prove that 
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+

 is an irrational number.

17. Obtain all zeroes of the polynomial f(x) = 
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, if two of its zeroes are -2 and -1.

18. Solve 
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19. If 
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20. Prove that the points (4,-1), (- 2,-4), (4, 0) and (2,3) are the vertices of a rectangle

21. Determine the ratio in which the point P(m, 6) divides the join of A(-4, 3) and B(2, 8). Also find the value of m.

22. If the diagonals of a quadrilateral divide each other proportionally, then it is a trapezium. Prove the above statement.

23. Use Eclid’s algorithm to find the HCF of 96 and 60. Hence express the HCF in the form 96x + 60y, where x and y are integers.

24. If 
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 and 
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 be the zeros of the polynomial 
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a) 
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b) 
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c) 
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25. Solve graphically the following pair of linear equations:
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Section – D

26. Solve the following equations graphically:

2x + y = 6,   
4x – 2y = 4

Shade the triangle formed by these lines and y-axis. Also find the area of the shaded triangle.

27. State the basic proportionality theorem and the converse of the Pythagoras theorem.
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are on the same base BC. If AD and BC intersect at O. Prove that 
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28. Prove that the areas of the 
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with vertices A(
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29. Find the value of : 
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30. The angle of depression of the top and the bottom of a building 50 m high as observed from the top of a tower are 
[image: image30.wmf]30
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 and 
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respectively. Find the height of the tower and also the horizontal distance between the building and the tower.
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